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T 45,00,000

Deh"&ﬁ‘ylﬁo 1.5:1
Retum on Shareholder's fund 54%
Operating Ratio 85%
Ratio of operating expenses to Cost of Goods sold  2:6
Tax rate
Fixed Assets O&mﬂ”
Current Ratio <Y 18-
You are required to calculate - Q)%’
(i) Interest Coverage Ratio O\

- (i) Gross Profit Ratio QO

K (iii) Current Assets @

Sl - -
(b) Alpha Limited has following information :

Equity Share Capial | 25,000 Shares @ ¥ 100 per Share
15% 10,000 Debentures @ T 750/- per Debenture
Sales 50 Lakhs units @ ¥ 20 per unit
Variable Cost T 12.50 per unit
Fixed Costs Z 175.00 Lakhs

Due to recent policy changes and entry of foreign competitors in the
sector, Alpha Limited expects the sales may decline by 15-20%,
Hmva,xlﬁngwiccmdomam'ﬂlmu—e.w
Taxes will continue @ 20%.

You are required to calulate the decrease in Eamings per share,
Degree of Operating Leverage and Financial Leverage separately if
sales are declined by (i) 15%; and (ii) 20%.
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sales information jn
A respect of Bright 14 5
nnual Sales (90 % on credit)
Credit period ¥ 7,50 00 600
45
Average Collection period nb”
Bad debs -
0.75%

Credit administration cost
(out of which 2/5% js avoidable) T 18,60 000

recourse basis at a service charge of 2%. Factor agrees 1o gant
advance against debtors at an interest rate of 14% @‘wnﬂloldq
20% as reserve. Payment period guaranteed by }’.Q is 45 days. The
cost of capital of the company is 12.5%. })ne time redundancy

payment of ¥ 50,000 is required to be mzég,tb factor.
Calculate the effective cost of factoring o the company.

(Assume 360 days in a year)

(a) The capital structure of SKine Ltd. as on 31.03.2024 is as under :

“Particulars Amount (?)
Equity share capital of T 10 each 45,00,000
15% Preference share capital of T 100 each 36,00,000
Retained earnings 32,00,000
13% Convertible Debenture of ¥ 100 each 67,00,000
11% Term Loan 20,00,000
Total 2,00,00,000
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Additional information @
of T 100 eac
(A) Company issued 13% Convertible Debentures h on

At :
01.04.2023 with & maturity period of © )"o":m m’:““ﬂ‘y the
debenture holders will have an option 10 € debenturey

of 1 : 4 (4 sharey
into equity shares of the company in the “"2 uity share is € 25
for each debenture), The market price of th:f ;e share is 6% per
cach as on 31,03.2024 and the growth rate

annum,
(B) Preference st

selling at T 150 per share.

10-year
(C) The prevailing default- risk free interest rate iy isgg/g
treasury bonds is 6%. The average market 1l remium A
ury bondas 1s 6%. Q

and the Beta () of the company is 1. 54 \ J
Corporate tax rate is 25% and rate of perso ijhcome
You are required to calculate the cost of

(i) Equity Share Capital AQ

ock, redeemable after eight years, 1S currently

tax 18 20%.

(ii) Preference Share Capita

(iii) Convertible chcn%\'
(iv) Retained Eamirgb,
(v) Term Loan o °
(b) Followin is available in respect of Levered and Unlevered
companies having same business risk :
Capital employed =3 2,00,000, EBIT =¥ 25,000 and K, = 12.5%
Sources . | Levered Company () | Unlevered Company (%)
Debt (@ 8 %) 75,000 Nil
Equity 1,25,000 2,00,000

An investor is holding 12% shares in levered company. Calculate the

increase in annual earnings of investor if he switches over his holding
from Levered to Unlevered company.
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pany S& ms%nﬂtsmmm’

rennnisnxﬂt“?mpuyfolbwsmz@hmmmdof
savings on loss due w0 sale of existmg

The factors at 14% are :
Years 0|1 2 3 4 1S 6
PVFactor [1 |0877 [0.769 |0675 | 03592 (0519 0436
Required :

(i) Calculate the Net Present Value and Profitability Index ad
(ii) Also calculate the discounted pay-back penod.

EUM2

Join Us on Telegram http://t.me/canotes_ipcc

Scanned By Camera Scanner



http://www.castudynotes.com
http://t.me/canotes_ipcc
http://www.castudynotes.com

() Vista Limited's retained camings per shaf

' ®)

(c)

(c)

(6
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¢ for l’\’ year

31.03.2023 being 40% is € 3.60 per share. COMP
Browth rate of 10% per annum in the M"' wa Y=

Browth rate is expected 1o stabilize ot 8% per ® - C::‘ ¢
maintain its existing pay-out ratio. If the investor 'cqof date u: I
return is 15%, Calculate the intrinsic valu 4-xd

Dividend Discount model.

\ ments are true ¢
State with brief reasons whether the followi"é e :

false : o (6
() Maximising Market Price Per Share (Mgf;?}
objective which maximises the wealth ®'°h°ld“s |
(i)' A combiaiion of lowr risk and h@f return i8S known as i
return trade off and at lh el of risk-return, § '_ t

maximum. fts of
(iii) Financial distress is @on when accounting proli
long-term obligations.

are sufficient to B
< one who provides funds for start-up

(iv) Angel inv
exchange Yoran ownership/equity.

ABC Ltd: is approaching the banks for financing its business act vity
You are required to describe any four forms of bank credit for th

consideration of the company.

Discuss the relevance of Payback reciprocal in capital b dgetin

decisions. R/
OR

Explain the features of crowd funding,

3
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2 BOYA LM & & venture in the
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"“W’“‘N'omnq\m@mn' based on both
whmmwhmm&wmeﬁxﬁvmm
through the interaction of such
Briefly discuss the strategic ou will use in the given situation.
State the limitations of the té‘l as well.

o
Elvis Global is a OTT platform facing fierce competition from 1+4
its competitors changing consumer preferences. This has made it -
difficult to customers as the existing television channels are also
launching their own platforms. The company has appointed Raghav to
lead the company forward as the sales & marketing manager. Raghav
needs to design creative and innovative advertising campaigns to gain
a competitive edge, engage the public and capture the market.
Identify the strategic level that represents Raghav’s role at Elvis
jlobal. As a strategic advisor, highlight the various benefits of
gic management in overcoming different challenges to Raghav.
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(a)

(b)

(a)

(b)

(a)

(b)

(b)
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°Aoompmy'smissiora%cmanistwwlyw°nih pre:
iy the significance of a mission statement.

g k.

? Why is channel analysis important ? Exp

of channels ?

Explain the concept of vertically integrated diversification. How

forward integration different from backward imntegration ? E
OR .

Recommend 2 tool to analyze the competitive position of various iy

companies in the market and outline the step by step procedure

-

using the identified tool. 37
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